5 % 5 S % S, S o S S
8 %o, S S %09 S S 295y S S
9 ‘e g g g g e 9 g
£ &4 £ &4 £ & £
1 *  S=1:500 .
g, PRI E BB R
*
*
*
%,
* Ly,
BTEE 1=3142m SH4EE HTEE 1=51.0n (N9+14. 30~No12+5 30)
P ; *
BRaAV)U—E 18 EnEE 1=94.4n BRI 185 HAHEE =25 6n ERAVHY—REE (KB) L=41.3m 125 HtHER =50 Om
L=2.3m L=t |3m
_ CHEEARUIM 1=26.3m
o
dlle = = 5
212 il g B 2 s <
= 7| | I T i - & 5
N ol e & |& & i~ & b= & 2
% g ENE == g =] g E E g s
o7 * §§'
& * B
Y *
£
| *
L8 I |
S ,
f2.302m\s =y 2%,
/i
il
H
El
g "
10
X, H
ey H . A
% £ 10 -
H B
H E
g l H
3 El
: . £
: 2 o "BM. 2(J4) | | H
* 4 4 F=2,.305m E
" i B H
H El
B B
H i/
H K-
z'uz
LT G X,
* o,
%
1% %
z'm{
W\ %
] &
L |
+
\ *
s |o o
I 2 5 : g g g g = AL 2
i 2 % 4 [~ = Sl o = = 9 T |z % ¢ I
9 G I I < & B e = & 3 B SN o ke
= g g = g g g2 g E g g = glgg g g
* 3SR
B _SERE |
Ba vy Y— MR |L=30.2m *
‘ BRIV Y-+ e 243 e L=).b
15 EHAHE L=64. 5m Lt B 158 (300 300) L=11.8m 35fIE =20.0m 25 @& (300x400) 1=28.0m | L=7.3m | 1 SEHHGEEE L=54. 4m =Lpm 2 SFRAR L=44. 2m *
L=5.3m 1=32.0m 2 5fi& (300x400) BRAVH Y- (HE) =1.8m 2 5B hXEE
)s/
06‘/00
%
X ER Y BE ZER
* 109324. 350 106156. 605 2,332
*
109421. 456 106145. 344 2.217 SF 4 FE
%, i = 109498. 572 106122. 009 2,228 _
0%0”0 P 1Pf J it £ 1A R SL YR 109545. 505 106075. 983 1.995 TE # R
BP 341-29-12 2. 800 106168. 165 109569. 656 106029. 574 2.017 N B = aco -
- f =
.1 352-42-10 11258 109335, 123 | 106157, 241 109323.078 106158878 BEEY & 5 HBWRER
.2 353-22-31 0-10-21 109393.812 | 106149.764 109368, 758 106161 802 P ———— =y
. 1 . me e e Ve
* 75 SIT-15-03 Tl 700,000 5810 0.117 o525 75T | 106088 711 109445, 951 106134. 216 2.305 AR &R 6
1P.6 302-04-39 15-10-23 80.000 655 0.706 109545. 225 106073. 183 109509. 025 196136. 953 _
EP 109569. 513 106034. 731 109546. 174 106079. 999 # # & )
3 & it =
& S ,?“? § U?é' §§'
3 S 3 g S, ./ & MEH RS L AR
£ 2 2 £ P g b




(02 '¥1+)
Hos0C H H 000 H 50 HoLlyleH 00027 H 43 H H ;
Ha0c Hsvoo H H o0z HoLlzieH 0002k H 002+ H H .
Has0z Hevoo H Hzvoz H ocl-ooeH 00001 H L 'ONH H '
Holtz H1600 H H 6102 H ocl06zH 00001 H 00 0L+ H H .
Heelz Hetg H Hotoz [octosgl{osor H vion| H :
1K 1 Hze0z {06062 €650L | 903[] g H -
Y o o ,
28R . 2
boo 5
000 0}+€1 ON T L .
- = =23
N—Hootz Hooo H Howvle HievsozH tcos H  97ds H H
ge
Hoolz H 132200 28177 HOYEH00EE [ 08 o Sa
S ot H H 000 H9Lz Hol09gH 9927 H €LONH =a3|H
218 Horz H H 200 Hislz HwoetseH ve6't H 908 H H
zZls Holz H How0 Hock'z Hol6sezH S00¢ H 086+ H slo~ H
= =4 E . . . . T[o =
Hoolz H [ €100 el 996782 1689 [ 870 Bl s
oo
ootz | L 1zo0 [{1ere [|sziove||ss90 || sasl|| TSl
Mootz Hzeo0 [{esre []ocwavef{ooes [ ocg+ [ 85 ]
S
D i : : ‘ | 210N wS
oo ootz Hoo Hoiooo Hrorz Hocrovelosso [ zionlf| &7 L
N~T—T 291z []8000 { H stz [ oszeezf ozisr | $98 = e
1=
o
—~le
e
P
o~
e
=]
| W o Holzz H Ho0z00 Hoegz HoLlozgH €80°LL H LLONH H
=l =3 %051~
: ]
= 1
E ¥ aY <
Yo ™ Ve = ,
nii = Heeze H H 700 Hesez (Hi80602H 9L H ¢0aH DSy weo
=2 b N.I.O. .
F R oy .
o Hoszz H H 8000 H¥9ez HSeLloeH GeLt H vdSH S| Huwo'e!
0Lo Ho9ze Heooo H H 852 H 00000cH 000°€ H Ol ONH S&| H sorZ,
— — H 92 He8000 H H 6522 [ 000L61H 8sLc H 00 L1+ H me H
Hvee Hewoo H Hlozz Heevelqzoe vt H voaH —ERIH el
o s
o
il Holez Hteo0 H H 982z H 00008H 00001 H 60N H H
—
Il
- Haees Hes00 H Heszz H 0000LLH 0008 H 0001+ H H
e 2 9567 H 28070 €Lze 0002 002+
& | — H H H H H H H H H
m < @mw- 0967 H 0600 H Hozz Ho00009H 000, H 80ONH H
&)
1
|
ﬂ — Hevoo H Ho6cz H H 000°¢ H 00°¢l+ H H
= i Hewo H H Loez H 000°0gLH 00001 H 0001+ H H
H
i
g H H G000 Hsoez HoooortHeslt H LONH H
%05 |
g e
R H H 1000 Hoscz HergzelH corol H €93H H el (—
=3 X g
+._.W 007 i
= . . . . . .
r_u_m = H 8000 H Hoeszce HovwaelHowwe H €dSH Ho
= =i H Hv00 H¥see Ho0000ziH 956°L H 9°ONH Ho.
007,
. g
Hzo0 H Hwee HwwozllHwoel H €08 H H ool =
g 208 14—
H 9000 H Hvez Hoo000lH teL9 H SONH < H
by
~F
Ht200 H Ho6ocz Heozes Hooez H ¢dl H =T H
H 600 H H 6522 H 00016 H 0001l H 0011+ H ~H
Hoez Hsloo H Hsoe'z Hooo08 Hoooel H #ONH H
Coee )
000 SeE N | NOEE S
Hoeez Hovoo H Ho6cz H000L9 HoooL H 001+ H H
Hoeez Hoeoo H Hooe'z H 00009 H o000z H €0ONH H
=
S o
@S Hoeer H Hzlo00 Hevee Hoooor H65S H 2ONH D H w08k
o 7 g
— - )
Hoees H Ho500 Hoez Heowve Heores H 1dlH Awm H xim
. Hoees H Hzeo0 Heoez Hoo0ze Hooozh H 00+ H = H s
B ’
i g
S — s
Hoeez H100 H H6lez Ho0000z Ho0z8l H 1°ONH H ws-
E Hosez HL200 H Heoez Hoos L Hoogl H 081+ H H
06e T H 06€ T H G100 H Healez Ho000 Hoooo H (0O0NH H
N S i
T Tg T T T Tg T T 1T Tg T T T Tg — > —
S = S S ofl B || BE || PE || pE || RE || B || = g & EHX
- +
: L L -
0011 ) = =
1
! @ || H | H || g0
= 1=y
g
R [ =
& || &= || B 8| & || w = H AC e

HEES

LR

4
B

bkl

W

0t R

%
T £ 4| ERBY £ SHBRURER

I% 4| TEBREREEIQERRRIS
TR | MATBEIIESR




(No.7+13. 00) (No.9+14. 30)
NO.8 BC.4 SP. 4

GH=2. 270 GH=2. 261 GH=2. 249

FH=2. 360 . F=BRahe .
(2.339) HET ~ - 3
. B Gh) L 701 ] N ﬁﬁflllti@) 0.02
N
~ - RE 0.7
~ - @ -
N Ve
N e EBtT
LI ~ - A (1) 0
Al (15) — N P A (1 5) — ey 5
R (15) 04 ~ RIE (£9) 0.6 e o
HEEEE 0.4 N HEEE 0.7 =
5,050 =2 ~ = 5, 000 BR(FRAL) 0.3
R (AL 0.3 N ER (RAL) 0.4 " B (i) =
R (REL) 01 ER (REL) 0.2 2.500 _
| AN = . WEWMOBT | -
SRR L -
H)-MERIEL | 0.09
% () :No7+13.00
2,239 v 2.190 As
1l 1l IV ' 1l
J
7
Ve
7
7
Ve
7
DL=-3. 000 s DL=-3. 000 N DL=-3. 000
e N
e N
Ve N
e N
Ve N
NO. 7+10. 00 ~ NO. 9 Ny NO. 10
s GH=2. 286 N GH=2. 258
s —_— ~ AL, 208
ST FH=2. 310 T
sEmRRT | 52 ST S A (£8) 0.02
A (+8) 0.3 BE B 03 ] ET 07
xE 4.45 B -
4.45
BT
PR T h (18) 0.1
Al (EB) 0.4 KIE (£8) 0.8
K (19) 12 B (£5) 01 EBEE 0.7
5,050 EEEE 1.0 i (15) L1 5 00 BRGRAD | 03
BRRALD) 0.3 : EEEE 1.0 BR R0-40) 05
2,500 1,950 R (RAL) 0.9 ER (®AL) 0.4 2,200 2,500 HEIRE T Z
REMMBEL | — BR(BEHD) 03 0 WEHRT -
WFEL | 0.08 Uh)-FEEL | 0.09
- - — 7 N\
' - - T v 2.202 s R
" & = 1 o AT .
1.
=L
DL=-3. 000 DL=-3. 000 DL=-3. 000
(NO. 8+2. 00)
NO.7 NO. 8+10. 00
GH=2. 283
FH=2. 300 T FH=2. 335
SERMRT | 75 (2.355) o
H (1B) i;o — (B ] 03 |
3 ~
430 -
~
B (18) 0.6 ~ BEEET X 0 N8+2.00
R (1) 15 - a4l (18) —
EAEE 14 R (19) 04 11
R (RAL) 0.5 i 2408 EERE 08 10
BR (RET) 0.7 ™ 150 350 000 500 BRHAL) [ 03) 04
AR T — ~ — — — — | EZR®HEL) | 01 03
WH)-NERIEL | 0.15 ~
N | % (0 No8+2.00
~
(2.326)
- 22300 g L g[2.305 _
i ¥ . =
B 4 FRE
& | mEE (1) #® R
B ¥ A | EBEY L SHBHABE 1/100
I% 4| TEBRERMHIGERYATE |EEES
DL=-3. 000 DL=-3. 000 THET | ARTBEINER L
E m -3 ® L]
E 3 E it
FmmESRSt AR




_Bos
GH=2. 159

T
A £8)

=E

LERaE

EEEET

EEIC£8)

RiE( +8)

HWEE

BR (RAL)

R (RC-40)

SRR T

SHERRAE R T

)+ EURL

DL=-3. 000

o
GH=2. 230

2.210 92177

HET

A £8)

=E

EEEET

[erme |

I £8)

RE(18)

HWEE

BR (RAL)

R (RC-40)

SRR T

BRI T

)+ EURL

DL=-3. 000

_E5

GH=2.173
FH=2. 160

GH=2. 182

B
GH=2. 187
FH=2. 160

5, 000

970,

SET
WERBRL | 2%
A 18) 0.4
E3] 470
I 4.70
T
A L8) -
RiE(18) 0.9
HEEE 0.8
ERDRAL) 0.3
ERXREL) 0.6
SHERBERT —
)+ ERERL —

ST
WERWRT | 256
REICE8) 0.3
RE 3.07
3.07
REICEB) 0.
RiE( 18) 1.2
HEBEEE 1.0

EROGRAL) 0.4

BRNREL) 0.3

IR T 0.1

) ERERL 0.23

DL=-3. 000

_Eo4
GH=2. 252

5,000

2,200 2,200
700

v 2.205 " 2.256

HET

A £8)

=E

LR

EEEET

I £8)

RE(18)

HWEE

BR(RAL)

R (RC-40)

SRR T

SHEHRBE R T

Y- EURL

HHET
BH(18) 0.05
=R 0.7
[rmme | -
BT T
BEI(18) 0.5
RiE(18) 0.8
HEEE 0.7
5,100 1§%(iﬁﬁﬁi) 0.3
18 (RC-40) 0.5
f230 . 270 WEEIHL | 1.0
100 SMEMMBT | 0.4
4 Ho 1) EEL -
v 2.195 s
= ] T -
- d L )
L
DL=-3. 000
_Noaz
6H=2. 161
Fi=RR& DY
- HHET
BHI(18) 0.06
=R 0.7
L ERaE -
BT T
BEIC+8) 0.3
RiE(18) 0.8
HEEE 0.7
BR (AL 0.3
18 (RC-40) 0.5
SR T 1.0
SHERBFT 0.37
- EREEL 0.1

DL=-3. 000

DL=-3. 000

_Monrisg
GH=2. 170
FH=2. 160

HET

SERRBT | 24
REICE8) 0.2
oL | 2o |
2.97
REICEB) 0.
RiE( £8) 1.5
HEBEEE 1.2

EROGRAL) 0.4

BRNREL) 0.3

SRR T 0.3

) +EUEL

ST 4 EE

B & |mEE R
IF 4| HBEY £ SHRAATE 1/100
£ 4| TEBRERNEIGEBRATY |DEES
IHER | AETREINER ‘4
® # ﬁ% #® u

£ & £ & =

PIm T ERMLEARR




B

V=1:50 H=1:250

1SEAXEE 1=05.5n FRAVHU—PE (EE)  1=41.3n 188 hHEE L=50. Om
1.0 1.20 1.30 1.00 10.00 10.00 14.30 5.20 8.30 1110 19.10 0 5.40
o 3|
g g
g g
: _ 3
g . e 8 . = - 7 = <8 = o | g
5 E 5 3 g 3 = 3 g g% = 8 2 ®
2.220 2. 266 2. 286 2.325 2.300 2,215 2.239 2.205 2.210 2162 2 166
/ / 2,202 \ 2195
. g ol = 8 = = = o o gl
s S 5 - I g i = g5 2
i @) El E1 i & = e Bl =
- SHER YT -
8 g
4 <
X 3
g g
e |
| |
- o o o o g ko al 12 g
L oi e o o e
3 IF B 2 P 3 a oy o a o o 3 3 P f P B (@ ¥ o2 ¥R B 3 B 3 3 g
+0[20
___kcs +7.30 }+13. 00 10.8 12 1+10. 00 0.9 BC.4 Na 10 _ Noit +5. 70 BC 5, [NO 12 4530, |SP.5 EC 5 3. 30 14 (1000 15 12,
P 3 +10.00 [F10-00 +17.00 lo f+14. 20
A s +2.00 12,00 2 -
&
2 18 : _ e ————_{,
| i o Z T @ 3 3 A B z 3 pE o ok . ﬁ
\\ N
1 -
\17.00 h
HRIVYY— LB (HE)
2 S#( 300x400)  1=22 Om 3EfHE  1=20 0m 2SI (300x400)  1=28.0n 1=1.3n 1SEARMEE 154 4m L=44. 2m
1010 8.00 10.00 2,00, 8.00 10.00 10.00 440 290 7.70 . 11.10 . 510 13.40 0.90 59 10.40 4
= = 3
g 2 ¥
o . E I 7
3 343 2 o g - g z 23 2 Al sl = : : ] 2
7 3 9 *io 2| ng < - = g = 105 g b= | gl |g ol |» g ¥ g 7 g 7
2277 2.301 2.305 2.280 / 2318 2256 2184 2171 2.162 2121 21212121y |2.153 212 2.101 2076
2264 —V\ 2.129 s /L —V\—V\ . 2,046
1.850 1.859 1.871 1.883 /
57 8
&/ _ _ | _em | g §l < . . o 1 = - - — - ——
v S 8
s g Z i 76 ¢ €2 g CE
8 g 8/ |z z g 3 4
g 8 ] g g 3

SH 4 FE

H 4| EHE #® R
% | HBEY L OHRAATE =
I% 4| TEBREEMANGEBRATSE |HEES
THEH | AETHBEIASR 5%
® W * #® u

£ & £ & =

FmmESRSt AR




1S8R

S=1:30
300
BERBER 1.0 Y
H B avyy—=+ £ # EHRE
060 M| o5 M 03 M 1ea M gy m?
%} =
& =
B T
B+200
= "
2E5E AR s=1:30
300
o BEANTE 1oy
H 8 [ avole | w0 | swwms
| \e, I 08 ™| o5 ™ % os M oes M
1.00 0.60 0.450 104 0.70
- |
J SO
[ _
B g
B+100
ENPRCEYE: - S=1:30
65(, E49)
125
FY R 1.0m4Y
[ < £ ki # &
o avyy—r 0.107 n?
‘ > o 3 i 094 P
o 8| 1
h ERRE 013
J
H2g|

2 5{8liE (300x400) \ s=1:20

BiEE( BER)
300 L=500

3 5 f &

2 SEE 10. 0m4Y
\ ") E| & W . ®
Bavhy—t o VSl (300 400) 5.0 &
CHERLD g 3 v 51— 0.25
[pR=it:a .00  n?
E@avyy—t A— e ERRE 600
fi#E 300 10.0 ®

AHPRE

=TT
1 548& (300x300) g-1:99 BRAVIJ— B s=1:20
5,
BiEE( HER)
300 L=500
1 SEE 10. 0m&4Y I BRIV Y b8 10.0me4Y
£ ki # & 4 # 4 &
#av Y-k L 4 VSfl# (300 x 300) 5.0 & g avyy—t 0.600 m’
(BlEHL) g 2 £V oY -k 0 o Bt 800 n?
& 7 SN 1.00  /m? E| ﬁm&yﬁ/ 350 i
Eiavyy—t A —r ERRE 600 / By 008 o
BEE 300 00/
HERT,
300
600

600
300
%, P % 2-8300
1=500
3 S 10. Omt Y
3 £ kg £ 2
. o avyy—t 126
o H i 18.40  n?
| = BBH | LK D3 4975 Ke
Lt ois A g Bittht =10 Nz
[@200 =500 /[l ] — {2 02-8300 Y
. (=]
- | avyy -t 54
EReap e 15.13\ n?
ERRE 1022 \ r?
Bittht =10 05 P
822
1,022

#Eav Y —h iR 10. O
4 # 4 &
-l g avyy—t 1000 m'
HEEE 10.00  n?
#ox I S=1:10

RET BAEBHEA t=3m

SF 4 FE

B % | #EE R
I ¥4 | EREY s SHRRATE =
EH 4| TEBRERENIGEBRATS |HEES

IEER | MATBEIENER

*%

# # 3 B L
& "3 ® it =
MEmEEHLEARR




